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Contestant  

Code 
     

Aufg. Antwort Pkt 

A1     0,3 

A2      0,3 

A3   ( )   0,2 

A4       1,0 

A5    0,2 

A6 Skizze für   über     

                                                                                          Steigung bei      : ________                             

                                                        

                                                                                          Steigung bei       : ________ 

1,0 

A7 

    

 (  )   

 
1,0 

A8      0,2 

A9    0,3 

A10      0,5 

η 

xg (0,0) 
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     Contestant  

Code 

 

B1     0,6 

B2    0,4 

B3            2,0 

B4 
     

    

2,0 

 
 

 


